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Expla}n the GSM system architecture with the help of a diagram.
Explain the problem of Near and Far terminals. i}

h

(3+5)
, . . : .

What ar(;: the functions of home and foreign agents in the mobile IP

protocol? How does an agent discover COA (s) when a mobile station

node visits a foreign network?

What is agent solicitation? How does agent advertisement difter from
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agent solicitation?
What is transaction oriented TCP? What are the modifications required in

TCP receiver to implement the selective retransmission protocol?
Differentiate between Mobile TCP and Snoop TCP. (5+5)
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